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Oqnrdl hm̀ q Qnadqs Aq̀ mcnl 9 Adf q̃ mcdm t mc Adf qdhedm 
RR / 4+ Q` t l  HF  1-3/ 0+ 03,05 Tgq 

 
 
01- @oqhk9   Dhmẽ gqdmcd Rhsyt mf  
 
08- @oqhk9   J `ohsdk 09 Rdl `mshrbgdq Hmedqdmsh̀ khrl t r t mc knf hrbgdq Dwoqdrrhuhrl t r 
 
15- @oqhk9   J `ohsdk 09 Rdl `mshrbgdq Hmedqdmsh̀ khrl t r t mc knf hrbgdq Dwoqdrrhuhrl t r 
 
2- L `h9     L ` j hmf  hs Dwokhbhs9 J `ohsdk 29 Roq̀ bgkhbgd Oq̀ whr t mc chrj t qrhud Edrskdf t mf  
 
0/ - L `h9    L ` j hmf  hs Dwokhbhs9 J `ohsdk 29 Roq̀ bgkhbgd Oq̀ whr t mc chrj t qrhud Edrskdf t mf  
 
06- L `h9    L ` j hmf  hs Dwokhbhs9 J `ohsdk 29 Roq̀ bgkhbgd Oq̀ whr t mc chrj t qrhud Edrskdf t mf  
 
13- L `h9    Dhmkdhst mf  
           @af ` ad G` kaydhso` odq 
 
20- L `h9    J `ohsdk 19 G`mckt mf dm+ Mnql dm t mc oq̀ j shrbgdr Adf q̃ mcdm 
 
6- It mh9     J `ohsdk 29 Udqk€—khbgj dhsrsgdnqhdm ├ Dhmrhbgsdm t mc akhmcd Ekdbj dm 
 
03- It mh9    J `ohsdk 39 V `r rhmc rhmf t k€qd Sdql hmh+ t mc v `qt l  f has dr rhd ˜ adqg` t os> 
 
10- It mh9    J `ohsdk 49 Dhm rnyh̀ kdq V df  unl  Adf q̃ mcdm yt l  Qdoq€rdmshdqdm 
 
17- It mh9    J `ohsdk 59 Naidj shuhs€s t mc chd mnql `shud Edhmrsqt j st q cdq Q`shnm̀ khs€s 
 
4 It kh9      @arbgkt rchrj t rrhnm 
           @af ` ad @arbgkt rro` odq 
 
 

Khsdq̀ st q unm Qnadqs Aq̀ mcnl 9 

Adf q̃ mcdm t mc Adf qdhedm- Dhmd Dhmẽ gqt mf  hm cdm Hmedqmdsh̀ khrl t r- Eq̀ mj et qs.L -9 Rt gqj ` l o 1/ / 0- 
@qshbt k̀ shmf  Qd̀ rnmr9 @m Hmsqnct bshnm sn Hmedqdmsh̀ khrl - B` l aqhcf d9 G`qu` qc Tmhudqrhsx Oqdrr 1/ / / - 

Dwoqdrrhud Udqmt mes- Adf q̃ mct mf + Qdoq€rdms̀ shnm t mc chrj t qrhud Edrskdf t mf - Eq̀ mj et qs.L -9 Rt gqj ` l o 
1/ / / - 

L ` j hmf  hs Dwokhbhs- Qd` rnmhmf + Qdoqdrdmshmf + ` mc Chrbt qrhud Bnl l hsl dms-  B` l aqhcf d9 G`qu`qc 
Tmhudqrhsx Oqdrr 0883- 

╒Cdq L dmrbg+ c` r mnql ` shud V drdm- Œadq chd F qt mck̀ f dm t mrdqdr Roqdbgdmr- Dhmd Dhmẽ gqt mf -═ Hm9 Chd 
Ydhs+ 01- It kh 1/ / 0+ 25e- 

╒E`bsr+ Mnql r `mc mnql ` shud È bsr9 @ Qdokx sn G`adql ` r-═ Hm9 Dt qnod̀ m,Int qm̀ k,ne Oghknrnogx 7.2 
' 1/ / / (+ 245,263- 

Hmsdquhdv 9 ╒Unm cdq Adf qheer`m̀ kxrd yt  dhmdq rxrsdl ` shrbgdm L ds̀ ogxrhj ═- Hm9 Cdt srbgd Ydhsrbgqhes ẽ q 
Oghknrnoghd 36' 5( ' 0888(+ 0/ / 4,0/ 1/ - 

 
Khsdq̀ st q yt  Qnadqs Aq̀ mcnl 9 

F dnqf  Adqsq̀ l  % I` rodq Khosnv 9 ╒Yt  dhmdq `mshct `khrshrbgdm Qdj nmrsqt j shnm roq̀ bgkhbgdq Adcdt st mf 9 
Qnadqs A- Aq̀ mcnl  t mc V hkeqhc Rdkk̀ qr-═ Hm9 Oghknrnoghrbgd Qt mcrbg` t  37 ' 1/ / 0(+ 162,2/ / - 

L hbg`dk Dredkc9 Qdydmrhnm unm !Qnadqs A- Aq̀ mcnl 9 L ` j hmf  Hs Dwokhbhs- Qd̀ rnmhmf + Qdoqdrdmshmf + `mc 
Chrbt qrhud Bnl l hsl dms-! Hm9 Dqj dmmsmhr 40 ' 0888(+ oo- 222,235- 

@kk̀ m F haa`qc9 ╒Sgnt f gs+ Mnql r+ `mc Chrbt qrhud Oq̀ bshbd9 Bnl l dms̀ qx nm Qnadqs Aq̀ mcnl + ┼L `j hmf  Hs 
Dwokhbhs┴-═ Hm9 Oghknrnogx `mc Ogdmnl dmnknf hb`k Qdrd̀ qbg- 45' 2( ' 0885(+ 588,606- 

G`adql ` r+ I˜ qf dm9 ╒Unm J `ms yt  Gdf dk- Qnadqs Aq̀ mcnl r Roq̀ bgoq̀ f l ` shj -═ Hm9 cdqr-9 V ` gqgdhs t mc 
Qdbgsedqshf t mf - Eq̀ mj et qs.L -9 Rt gqj ` l o 0888+ 027,074- 

I` rodq Khosnv 9 ╒Onrhshnmdm9 Qnadqs Aq̀ mcnl -═ Hm9 Hmenql ` shnm Oghknrnoghd+ Gdes 3.1/ / 1+ R- 31,36- 

Rda` rsh̀ m J mdkk9 Oqnonrhshnm̀ kdq Fdg` ks t mc chrj t qrhud J nmsnẽ gqt mf - Dhmd T msdqrt bgt mf  yt q 
Adf q̃ mct mf  cdq Roq̀ bg` ag€mf hf j dhs hmsdmshnm̀ kdq Yt rs€mcd adh Aq̀ mcnl - Adqkhm9 Cd F qt xsdq 1/ / 3- 

Qhbg`qc Qnqsx9 ╒Qnadqs Aq̀ mcnl  ˜ adq rnyh̀ kd Oq̀ j shj dm t mc Qdoq€rdms̀ shnm-═ Hm9 cdqr-9 V `gqgdhs t mc 
Enqsrbgqhss- Eq̀ mj et qs.L -9 Rt gqj ` l o 1/ / 2- 

Ohql hm Rsdj dkdq,V dhsgnedq9 ╒Yt q Œadqv hmct mf  unm L xrshehyhdqt mf dm l dmrbgkhbgdq J nf mhshnm Yt 9 
Qnadqs A- Aq̀ mcnl 9 Adf q̃ mcdm t mc Adf qdhedm═- Hm9 Cdt srbgd Ydhsrbgqhes ẽ q Oghknrnoghd 4.1/ / 1- 

Tcn Shdsy9 Mnql dm+ Qdf dkm t mc Hmsdqoqds̀ shnmdm-  Qnadqs Aq̀ mcnl r Oqnidj s dhmdq oq̀ f l ` shrbgdm 
Sgdnqhd cdq Q`shnm̀ khs€s- Hm9 Ydhsrbgqhes ẽ q oghknrnoghrbgd Enqrbgt mf  47 ' 1/ / 3(+ - 

Dmqhpt d Uhkk̀ mt du`  ' Gqrf -(9 Sqt sg- ' <Oghknrnoghb̀ k Hrrt dr 7-( @s̀ rb`cdqn9 Qhcf duhdv  Ot akhrghmf  
Bnl o`mx 0886- 

Rbgv dqot mj s hm Oghknrnogx ̀ mc Ogdmnl dmnknf hb`k Qdrd`qbg 46.0 ' 0886(+ 042,1/ 3 

Qnadqs Aq̀ mcnl 9 Oqdbhr ne ┼L ` j hmf  Hs Dwokhbhs┴+ 042,045 

Ingm L bCnv dkk9 Aq̀ mcnl  nm Qdoqdrdms̀ shnm `mc Hmedqdmbd+ 046,051 
F hcdnm Qnrdm9 V gn L ` j dr sgd Qt kdr @qnt mc Gdqd>+ 052,060 

Qhbg`qc Qnqsx9 V g`s Cn Xnt  Cn V gdm Sgdx B`kk Xnt  `  ┼Qdk̀ shuhrs┴+ 062,066 

I`x E- Qnrdmadqf 9 Aq̀ mcnl &r !L ` j hmf  Hs Dwokhbhs!9 @ Ehqrs Dmbnt msdq+ 068,076 

Qnadqs Aq̀ mcnl 9 Qdokhdr+ 078,1/ 3 

Rbgv dqot mj s hm Cdt srbgd Ydhsrbgqhes ẽ q Oghknrnoghd ' 4.1/ / / (9 

Kt sy V hmf dqs9 F dmd`knf hd cdq Naidj shuhs̀ s- Yt  Qnadqs A- Aq̀ mcnl r dwoqdrrhudq ╒Udqmt mes!+ 627,650- 

Rda` rsh̀ m QÒcH9 Mnql ` shuhs€s cdr F dhrsdr udqrt r  Oghknrnoghd ` kr Dqj k€qt mf - Yt  Aq̀ mcnl r Sgdnqhd cdr 
F dhrsdr+ 651,668- 

Rt r`mm̀  Rbgdkkdmadqf 9  Adf qhee+ F dg`ks+ Enkf dqt mf + 67/ ,678- 

Rda` rsh̀ m J mdkk9 Dhmd cdek̀ shnmhrshrbgd Sgdnqhd cdq Hmsdmshnm̀ khs€s>  Aq̀ mcnl r @m̀ kxrd cd ,  qd ,  
rodyhehyhdqdmcdq Dhmrsdkkt mf ryt rbgqdhat mf dm+ 68/ ,7/ 5- 


